Pre-Calculus
Limits at a Point — Day 3

Use the given information to evaluate the limit.

D limf(x)=3, limg(x)=6
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Use the graph to find the limit (if it exists). If the limit does not exist, explain why.
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Determine whether the limit exists. If the limit exists, find it. If the limit does not exist, explain why.
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Use the graph to find the limit (if it exists). If the limit does not exist, explain why.
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Determine whether the limit exists. If the limit exists, find it. If the limit does not exist, explain why.
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